The following steps DON'T affect the direction of Sec 3-3: Solving Inequalities Using
the inequality: Multiplication and Division

e Adding the same number (pos or neg) to both sides
e Subtracting the same number from both sides

o Multiplying both sides by the same positive number _ .
e Dividing both sides by the same positive number The following steps DO affect the direction of
the inequality:

e Multiplying both sides by the same negative number
e Dividing both sides by the same negative number

Compound Inequalities: Graphing and Writing compound inequalities
Because this graph is only one
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Write the inequalities that model each graph. . . .
When solving an inequality:
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e The only difference is that you must
-4 <x<2 flip the inequality when you multiply or divide

both sides by a negative.

To check your answer to an inequality you must
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Check your answer
Check the starting point
Test -24/11 to see if both sides
are =
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Check the direction of the inequality

Test a number greater than
-24/11 to see if the left side is
greater than the right side.
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